800

700

600

500

Yield

300
200

100

30

Raster 1 Current

00

3100

3200

3300

3400 3500 3600
ADC Channel

3700

3800

3900

4000



Raseter 1 [ADC Channel]

Raster 1 Current vs. Trigger 3 Time
4000

3900

3800

3700

3600

3500

3400

3300

3200

3100

- ;7—:’-',:’ = —=¢ 7’72

| | | | | | | | | | | | | | | | | I_
30%% 1300 1350

Trigger 3 [TDC Channel]

o
o
[EEN
N
a1
o



Yield

60

50

40

30

20

10

Raster 1 Current: EDTM Events

&)

8_IIII|IIII|IIII|IIII|IIII|IIII|IIII

3100 3200 3300 3400 3500 3600 3700 3800 3900 4000
ADC Channel



